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1. State the Fundamental Theorem of Arithmetic.

2. Find the area of a sector of angle of 900 and radius 2cm.

3. In triangle ABC, DE || BC

     AD=3cm,DB=6cm and AE=2cm find AC.
4. Write the sum and product of 

2 x 2 + x – 6 = 0.

5. Graphical representation of x + 2y = 4  and 2x  +  4y = 12 is _______________

6. Find the probability of getting the letter ‘A’ in the word MATHEMATICS.

7. If 
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TanA

 , and  A + B = 900 find cotB.

8. Find the tenth term of the A.P. whose first term is 4 and the common difference is 3.
9. If the base radii of cylinder and cone are equal and the ratio of their heights is 1 : 3 , find the ratio of their volumes.

10. The mean and median of a data are14 and 15, find the mode.

SECTION-B

11. A box contains 8 red, 10 white, 7 green marbles. One marble is drawn at random, what is the probability that the marble taken out will be 
a) red    b) not white   c) white or red     d) green
     12. Find the 26th term of AP whose 11th term is 38 and 16th term is 73.






(O R )

           Find the 11th term from the last term of the AP 10, 7, 4, … , -62.

13. (ABC is a right angled triangle at C and D is the mid point of BC  
prove that  AB 2 = 4 AD 2  -  3 AC 2
14. Find whether (5,2), (6,4) and (7,-2) are the vertices of an isosceles triangle.

15. Without using tables, find the value of 
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SECTION-C

     16. Show that any positive odd integer is of the form 4 q + 1 or 

     4 q + 3 , where q is some integer.
  17.Find the value of k, for which A(1,5) B(k,1) and C(4,11) are

     collinear.
18.  Solve     
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(O R )
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19. Find the area of the shaded region if
      the diameter of the larger one

      is 14 cm.
20. Find all the zeros of the polynomial x3 – 3 x 2 + 4 if one of its


 zeros is -1
21. Prove that   
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22. If P(x,y) is equidistant from the points A(5,1) and B(-1,5) prove that 
      3 x = 2 y.

23.Construct a pair of tangents from a point 10cm away from the centre of the circle of radius 6cm and measure their lengths.
24. The in-circle of triangle ABC touches the

 sides BC, CA and AB at D,E and F respectively. If 
AB = AC prove that BD =CD  
25. Solve graphically:      x – 4y = -14  and 3x+2y=14 
     Shade & find area bounded by these lines

    and the axes. 

SECTION-D

26. In a triangle, if the square of one side is equal to the sum of the squares of the other two sides, prove that the angle opposite to the first side is a right angle.
ABC is an isosceles triangle with AC=BC. If AB2 = 2 AC2, prove that ABC is a right triangle.

27. The internal and external radii of a hollow sphere are 3cm and 5cm respectively. The sphere is melted to form a cylinder of height 
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cm. Find the curved surface area of the cylinder.





( O R )

A vessel is in the form of hemisphere mounted by a cylinder. The diameter of the hemisphere is 14cm and total height of the vessel is 13cm. Find the surface area and the volume of the vessel.
28.The following table shows the marks obtained by 100 students of class X in a school. Find the mode of the distribution.
	Marks
	No. of students

	Less than 10
	7

	Less than 20
	21

	Less than 30
	34

	Less than 40
	46

	Less than 50
	66

	Less than 60
	77

	Less than 70
	92

	Less than 80
	100


29. A vertical tower stands on horizontal plane and is surmounted by a flagstaff of height 7m. From a point on the plane, the angle of elevation of the bottom of the flag-staff is 300 and that of the top of the flag-staff is 450   
Find the height of the tower.






( O R )

From an aero plane vertically above a straight horizontal plane the angles of depression of consecutive kilometer stones on the opposite sides of the aero plane are found to be  (  and  ( . Show that the height of the aero plane is      
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30. A motor boat takes 6 hrs. to cover 100 km downstream and 30 km upstream. If  the boat goes 75 km upstream and return back to the starting point in 8 hrs.Find the speed of the boat in the still water and the speed of the stream.
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